VYTBepxaaw

Pacniucanue KypcoB BHEYPOUHOM AesITe b RON
\n
JHu Bpems | SA Bpems | 5b 5B
- 14:15 | PasroBopsl 0 14:15 PasroBops! o 14:15 PasroBops! o
= BKHOM BAXHOM BAYKHOM
5
g
= E
14:15 QyHKIMOHATIBHASL 14:15 QyHKIMOHAIBHAS 14:15 OYHKIIUOHATbHAS
IpPaMOTHOCTB IPaMOTHOCTB IpPaMOTHOCTB
g
=
o
=]
&
M
14:15 CrnoptuBHas 6oprba | 14:15 CnopruBnas 6opsba | 14:15 CoopruBHast 60ppba
<
S
a
@)
14:15 | FOHBI1 naTpuoT 14:15 51 - BonmoHTED 14:15 | A- BononTED
o
[sa)]
5
=
[Marapma | 13:20 | Mup my3eiku/U30 - | 13:20 Mup my3eiku/M30- | 13:20 | Mup my3siku/M30-
CTY U cTynus CTy U
Jnn Bpemss | 6A Bpewms 6b Bpems | 6B
“ 14:15 Pazrosopsr 0 14:15 Pasrosops! o 14:15 PasroBops1 0
= BaKHOM Ba&XHOM BaXHOM
5
=
&)
i
o
=
14:15 CnoprtuBHas 14:15 CropruBHas 14:15 CnoprtusHast 60peba
E 6oprba 6oprba
g
o
=
2
. 14:15 Mup my3eikn/ 130 | 14:15 Mup my3eiku/ 130 | 14:15 Mup my3siku/ 130
O o« CTyUst CTy TSI CTy sl
v 8 . 14:15 Poccus — mon 14:15 Poccus — mon 14:15 Poccus — mon
il TOPU30HTEI TOPHU30HTEI TOPHU30HTEHI
[Igtauma | 14:15 OyukrmonaneHas | 14:15 Oyuxkuunonansbaas | 14:15 OyHKITHOHATBHAS
IPaMOCTHOCTb rPaMOCTHOCTb IpPaMOCTHOCTb
Huan Bpemsa | 7A Bpems 7b Bpewms 7B
= 15:00 Pazrosops! 0 14:15 PasroBops! o 14:15 Pasrosopsl o
cE Ba)XHOM Ba&XHOM BaXHOM
(&)
T ~
=g




v 15:00 GynkiuonateHas | 15:00 OyHKIIHOHATBHASL 15:00 | ®yHxIIMOHANBHAS
a PaMOCTHOCTD IPaMOCTHOCTb IPaMOCTHOCTh
2
M
i 14:15 0011 14:15 OII 15:00 OII
S
[
=%
O
15:00 Poccus — Mon 15:00 Poccus — 15:00 | Poccus —mou
= TOPH30HTEI MOW TOPHU30HTHI TOPHU30HTEHL
5]
5
o
[Tatauma | 14:15 Mup myssiku/ U130 | 14:15 Mup my3eiku/ 30 | 14:15 | Mup my3eikn/ 130
CTYIUSL CTYIHS CTY S
Jun Bpemst 8A Bpems 8b Bpems | 8B
o 15:00 Pazrosops! 0 15:00 PasroBopsl 0 15:00 | PasroBopsl 0
§ = BAKHOM BaKHOM BaKHOM
2k
- 15:00 OII 15:00 Yray6nensoe 15:00 Yrny6nenHoe
= HU3yUEHUE U3y4YeHHe OMOIOTUN
§* MaTeMaTHKU
M
14:15 OyuaxnmonanpHas | 14:15 @OyuknuonanbHas | 14:15 OyHKIHOHATBHAS
% IpPaMOTHOCTb IPaMOTHOCTB TPaMOTHOCTB
o,
@)
15:00 Poccust — mon 15:00 Poccus — 15:00 | Poccus —moun
= TOPU30HTEI MOY T'OPHU30HTEI TOPHU30HTEI
]
5
=
[Tatauma | 15:00 Myssika / 130 15:00 O®II 15:00 OOlII
CTyIUS
Juu Bpemst 9A Bpewms 9b Bpems | 9B
. 15:00 PaszroBops! 0 15:00 Pasrosopsr o 15:00 PasroBops! 0
g BXHOM BaYKHOM BaKHOM
Lo~
o
S &
o 15:00 OII 15:00 OII 15:00 | O®II
S
m £
~ 14:15 Hogeitmas 14:15 Hogeiimas 14:15 | Hogeiimas uctopus
é HUCTOPHUS HUCTOPUS
@)
15:00 Poccus — Mon 15:00 Poccus — moun 15:00 | Poccus —mou
B TOPH3OHTEI TOPHU30HTHI TOPHU30HTHL
Q
5
g
[Tatauma | 14:15 OYHKITMOHATIbHAS 14:15 OyuknuonanpHas | 14:15 OyHKIIMOHATIbHASA
PaMOTHOCTB IPaMOTHOCTB rpaMOTHOCTB




Hun Bpewms 10A Bpewms 11A
- 14:15 PasroBops! 0 BaskHOM | 15:00 Pa3zroBops! 0 BaxkHOM
2
(0]
=
0]
g
= B
15:00 OYHKITMOHATIbHAS 15:00 OyYHKIIMOHATbHASL
% IpaMOTHOCTb IpaMOTHOCTb
a,
S
£
m
B o 15:00 CrnoxHBbIe BOIIPOCE 15:00 CroXHBIE BOIIPOCHI
O o MaTeMaTHKU MaTEMaTUKI
15:00 Poccust — mon 15:00 Poccust — Mor TOpH30HTEL
% TOPU3OHTEI
m
H
L
=
[Istauna | 15:00 OYHKITHOHATIbHAS 14:15 OyHKIHOHATBHAS
I'PaMOTHOCTB I'PaMOTHOCTh




